B EAR A% K R T S R v (e =)

SHEK R R Ae Aw Ap
INPUT MIN 85|VAC INPUT MAX 265[VAC EE13 17.1 22.2 0.04
OUTPUT 1 12|vDC Io 5(A EE16 19.6 33.1 0.06
Po 60| W EE19 22.7 36.4 0.08
OUTPUT 2 0|vDC Io 0[A EF20 41.0 30.7 0.13
Po 0w EE22 37.0 31.5 0.12
OUTPUT 3 0|vDC Io 0[A EE25 40.7 60.7 0.25
Po 0w FR28 82.1 71.8 0.59
NVee 12|vDC Io 0.01[A RM10 98.0 45.7 0.45
Po 0. 12[w Dmax=|  0.50 E133 119.0 88.8 1.06
TAEMEEs 66|KHz KiFDmax=|  0.50 PQ2020 62.0 23.4 0.15
NG Y] 120|uF INGUJR | 37.89 [V PQ2625 119. 0 47.7 0.57
o H A 470|uF MIN|OUTS) H & 504 |mV [#iE TS PQ2620 Ae= 119
WL SKCORE  (J: % %5 A /cm2 (3007500) , Ku: %541 2 %500.270.5) 377 Ku= 0.3
AP=AW*Ae=(Pt*100000) / (2 A Bxfs*J*Ku) = 0. 46 cm4
{3 %Pt = Po /n +Po = 135.27 W
AB = 0.185 T KFBs = 0.210 T
IR {HE RSB T0B ( DCM / CCM BOUNDARY, Iifs F-#=XHL 60~ 80%. A )
[oB = 0.75 * To = 3.75A
IRS KRIBECELN = [VIN(min) / (Vo + Vf)] * [Dmax / (1-Dmax) ]
VIN (min) = 82.30 V Velamp= 169 V
I tEN= 6. 48 * 1.00 = 6. 48
R4 SKRCCM / DCMIE F4IR R 2 i) s e {F Fa It A ISB.
Alsb = 2Tob / (1-Dmax) = 15.00 A
A ) AHEIREER R Ls MU TR Lp.
Ls =(Vo + Vf) (1-Dmax) * Ts / Alsb= 6.41 uH
Lp = n2 Ls= A — 0.3 mH WLk < 15 uH
L IR6 SRCOMMRE 1 i WA FE U A Tsp. COMIRE LS 61 Fa it A Ipp
ATsp = Io(max)/(1-Dmax)+(AISB/2) = 17.50 A
A Tpp= A lIsp/N = A
SIRT PR B R Al “ge
A RNp L t= 20 x  0.11
TR PNs 2 15= 100 * 0.13
TR IR FNs 2445 = 1 0. 00
LIRS MEEND Ns, (BEARFFHVa = (Vo + V) / Ns) (EANRE
I>Np Np =Lp * Alpp / (AB* Ae)= 33. 04 32 T
2>Ns Ns =Np / n = 5. 10 5 T
3) Nvee = (Vee + VF) / Va = 4.94 5 T
4) Ns2 = (Vec + VE) / Va = 0.28 1 T
A IR9 K IO S H U e
B WS M Do = 18 A KA > 83 V
TP R e £ Vceo= 600 V Tc= 6 A
RCDFHA LR 5E:  Re < 42 KQ Cc > 3580 PF
Bl V7 EEL LA o = Rs = 0.30 Q T HE Lo 5 uH
JLREE L 28 5€  LinAC= 1.79 mH  XHEEME= 0.09 uF
R H BELAf A - Rvce= 18164 © Rgnd 4780 Q

-]
PQ26205: 3L Ad H = |2 40 % A &

YRS HLAUN H %5 HE A8 4 48
MOS#E 1 LA 10N60,

2

S T FSB20100 (T0-220)

I 12mm 55 0. 18mm /54 Ji7



